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5pDOLVDWHXU���6DP�5DLPL� 
$YHF� �� %HQHGLFW� &XPEHUEDWFK�� %HQH�
GLFW� :RQJ�� (OL]DEHWK� 2OVHQ�� &KLZHWHO�
(MLRIRU��;RFKLWO�*RPH]� 
/
XQLYHUV� FLQpPDWRJUDSKLTXH� 0DUYHO� Gp�
YHUURXLOOH�HW�UHSRXVVH�OHV�OLPLWHV�GX�PXOWL�
YHUV� HQFRUH� SOXV� ORLQ�� 9R\DJH]� GDQV�
O¶LQFRQQX� DYHF� 'RFWRU� 6WUDQJH�� TXL� DYHF�
O¶DLGH�G¶DQFLHQV�HW�GH�QRXYHDX[�DOOLpV�P\V�
WLTXHV�� WUDYHUVH� OHV� UpDOLWpV� KDOOXFLQDQWHV�
HW� GDQJHUHXVHV� GX�PXOWLYHUV� SRXU� DIIURQ�
WHU�XQ�QRXYHO�DGYHUVDLUH�P\VWpULHX[�� 
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0LFKqOH� %HUQLHU�� *X\� 0DUFKDQG�� %p�
UHQJqUH�.ULHI� 
'DYLG�� MHXQH� SD\VDQ� GX� &DQWDO�� YLHQW�
G¶DYRLU�XQH�LGpH���SRXU�VDXYHU�VRQ�H[SORL�
WDWLRQ�GH�OD�IDLOOLWH��LO�YD�PRQWHU�XQ�FDEDUHW�
j�OD�IHUPH��/H�VSHFWDFOH�VHUD�VXU�VFqQH�HW�
GDQV� O¶DVVLHWWH�� DYHF� OHV�ERQV�SURGXLWV�GX�
FRLQ�� ,O� HQ� HVW� V�U�� oD� QH� SHXW� TXH�PDU�
FKHU���6HV�SURFKHV��VD�PqUH�HW�VXUWRXW�VRQ�
JUDQG-SqUH��VRQW�SOXV�VFHSWLTXHV� 
'
DSUqV�XQH�IDEXOHXVH�KLVWRLUH�YUDLH�� 
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5pDOLVDWHXU���-RVHSK�.RVLQVNL� 
$YHF� �� 7RP� &UXLVH�� 9DO� .LOPHU�� 0LOHV�
7HOOHU��-RQ�+DPP��-HQQLIHU�&RQQHOO\� 
$SUqV� DYRLU� pWp� O¶XQ� GHV�PHLOOHXUV� SLORWHV�
GH� FKDVVH� GH� OD� 0DULQH� DPpULFDLQH�� 3HWH�
© 0DYHULFN ª�0LWFKHOO�FRQWLQXH�j�UHSRXVVHU�
VHV�OLPLWHV�HQ�WDQW�TXH�SLORWH�G
HVVDL��,O�HVW�
FKDUJp� GH� IRUPHU� XQ� GpWDFKHPHQW� GH�
MHXQHV� GLSO{PpV� GH� O¶pFROH� 7RS�*XQ� SRXU�
XQH�PLVVLRQ�VSpFLDOH�� 
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ORW�� 3DEOR� 3DXO\�� $JQqV� +XUVWHO�� /X�
GRYLN� 
7KLHUU\� SDVVH� VHV� MRXUQpHV� j� FODVVHU� VHV�
SKRWRV� GH� IDPLOOH�� SHUVXDGp� TXH� OH� PHLO�
OHXU� HVW� GHUULqUH� OXL�� /RUVTXH� &ODLUH�� VD�
IHPPH�� OXL� DQQRQFH� TX¶HOOH� OH� TXLWWH��
7KLHUU\�� GpYDVWp�� OXL� SURSRVH� GH� UHIDLUH���
©�*UqFH� ���ª�� OHXUV� PHLOOHXUHV� YDFDQFHV�
HQ� IDPLOOH�� 2IILFLHOOHPHQW�� LO� YHXW� SDVVHU�
XQH� GHUQLqUH� VHPDLQH� DYHF� OHXUV� HQIDQWV�
DYDQW�GH�OHXU�DQQRQFHU�OD�VpSDUDWLRQ�� 
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5pDOLVDWHXU���-RKQ�0DGGHQ� 
$YHF� �� &ROLQ� )LUWK�� .HOO\� 0DFGRQDOG��
0DUNXV� YRQ� /LQJHQ�� 0DWWKHZ� 0DF�
IDG\HQ��3HQHORSH�:LOWRQ� 
������ /HV� $OOLpV� VRQW� UpVROXV� j� EULVHU� OD�
PDLQPLVH�G¶+LWOHU� VXU� O¶(XURSH�RFFXSpH�HW�
HQYLVDJHQW� XQ� GpEDUTXHPHQW� HQ� 6LFLOH��
0DLV� LOV�VH�UHWURXYHQW�IDFH�j�XQ�GpIL� LQH[�
WULFDEOH�FDU�LO�V¶DJLW�GH�SURWpJHU�OHV�WURXSHV�
FRQWUH� XQ� PDVVDFUH� TXDVL� DVVXUp�� 'HX[�
EULOODQWV�RIILFLHUV�GX�UHQVHLJQHPHQW�EULWDQ�
QLTXH��(ZHQ�0RQWDJX�HW�&KDUOHV�&KROPRQ�
GHOH\��VRQW�FKDUJpV�GH�PHWWUH�DX�SRLQW� OD�
SOXV� LPSUREDEOH�–� HW� LQJpQLHXVH�–� SURSD�
JDQGH�GH�JXHUUH«�TXL� V¶DSSXLH� VXU� O¶H[LV�
WHQFH�GX�FDGDYUH�G¶XQ�DJHQW�VHFUHW��� 
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